04567 #K E

®
<A
=A
5! |
1
|
|-

7= miiEA

M
4N,

I
Je 42181l (33-39 HRC) MBBE{LALE,

B

STHIHERE K BEXEESRATZEXEA.
BERERINRAARZED,

A UL R T M B A LR L IR R R B,
W NP R R A,

ELRET

R L#<AWRT,

RIHE2AWRY,

1) 0 HE

. (HOFETB)
® 7] IS @ (D) &3 THMAEE D
i @EBEEHELT THOKRA
@ | @

=
I -\-: w
RN
LS 5
I
7
"
04567-11205 A B L IR4T 12 14 12 M5X15 7,5 9,5 3 2 4,3
04567-11506 A R L 0R4T 15 17 14,8 M6X16 8,7 9,3 4 3,5 7,3
04567-11808 A R XRET 18,5 21,5 18,4 M8X20 11,8 | 11,3 5 5 18
04567-21205 B HRAARY 12 14 12 M5X16 13,4 9,6 4 3 5,4
04567-21506 B HRAAIRY 15 17 14,8 M6X18 15,8 | 10,2 5 4,5 9,1
04567-21808 B HRAARL 18,5 21,5 18,4 M8X25 21,2 | 149 6 9 22

© norelem www.norelem.com



04567 K2 B

© norelem www.norelem.com



